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No.   Solution and Mark Scheme Sub 
marks 

Total 
marks  

   Section A   

1. a)  X={0, 1, 2, 3, 4, 5} 1 6 
   Discrete 1  
   Integer, can be counted 1  
 b)  

 

 
 
 
 
1,1,1 

 

   mean = 60, wider, shorter.   
      

2.    7P4 1 3 
   𝑃4

7

4
 

1  

   210 1  

3. a)  

 

1,1,1 7 

 b)  

 

 
 
 
 
 
1 

 

   y-intercept and minimum value  remain the same(seen) 1  
      
   axis of symmetry changes from x=1 to x= -1 1  
   graph moves to the left 1  

 
 
 
 
 
 
 



4. a)  𝐴 + 𝛿𝐴 = 𝜋(𝑟 + 𝛿𝑟)2 
𝛿𝐴 = 𝜋𝑟2 + 2𝜋𝑟(𝛿𝑟) + 𝜋(𝛿𝑟)2 − 𝜋𝑟 
𝛿𝐴

𝛿𝑟
= 2𝜋𝑟 + 𝜋𝛿𝑟 

2πr  
 

1 
1 
 
1 
1 

7 

 b)  𝑑𝐴

𝑑𝑡
=

𝑑𝐴

𝑑𝑟
×

𝑑𝑟

𝑑𝑡
 or 

𝑑𝐴

𝑑𝑟
= 12𝜋 

2π(6) x 2.5 
30π or 94.26 or 94.25 

1 
1 
1 

 

5.   fg(x) = x 
gf(x) = x 
fg =gf=x, hence g(x) = f– 1(x) 

1 
1 
1 

3 

      

6.   4(1-2 sin2x) + sin x = -3 1 4 
   (8sin x +7)(sin x – 1)=0 1  
   x =241.040, 298.960 or 900 1  
   x=900, 241.040, 298.960 1  

7. a)  6

2√5 −  √2
×

2√5 +  √2

2√5 +  √2
 

1 7 

   12√5 +   6√2

18
 

1  

   2√5 +  √2

3
 

1  

 b)  32x+y=30 or 23x-2y=22 1  
   2x+y=0 or 3x-2y=2 1  
   x= 2/7 1  
   y= -4/7 1  

8. a)  a+6d=23 or a+7d=26 1 7 
   a=5 and d =3 1  
   44 1  
 b)  r=1.1 1  
   𝑎(1.15−1)

1.1−1
= 256414.20 1  

   42000/12 1  
   RM3500 1  

9.   1/y =px2 + q 1 4 
   p=2 1  
   5=2(1)+c or 9 = 2(3) + c 1  
   q=3 1  

10. a)  𝐴𝐵⃗⃗⃗⃗  ⃗ = 𝑂𝐵⃗⃗ ⃗⃗  ⃗ − 𝑂𝐴⃗⃗⃗⃗  ⃗ or equivalent 1 6 

   𝐴𝐵⃗⃗⃗⃗  ⃗ = (
−3
6

) − (
2
5
) 1  

   (
−5
1

) 1  

 b)  √(−5)2 + 12 1  

   √26 1  

      1

√26
(
−5
  1

) 
1  

 
 
 



      

11.   2r+rϴ=40 1 4 
   r2ϴ=200 or ½ r2ϴ=100 1  
   (ϴ - 2) (ϴ - 2) =0 (factorise/ solve quadratic equation) 1  
   2 radians 1  
12.   4q+10r=16 1 6 
   26q-17r=-19 1  
   82r=123 1  
   p=3/4 1  
   q=1/4 

r=3/2 
1 
1 

 

   Section B   

13. a)  𝑥−𝑥1

𝑥2−𝑥
= 

𝑚

𝑛
        or           

𝑦−𝑦1

𝑦2−𝑦
= 

𝑚

𝑛
 

 
𝑛𝑥 − 𝑛𝑥1 = 𝑚𝑥2 − 𝑚𝑥       or            𝑛𝑦 − 𝑛𝑦1 = 𝑚𝑦2 − 𝑚𝑦 
𝑥(𝑚 + 𝑛) = 𝑛𝑥1 + 𝑚𝑥2      or           𝑦(𝑚 + 𝑛) = 𝑛𝑦1 + 𝑚𝑦2 
𝑛𝑥1+𝑚𝑥2

𝑚+𝑛
            and          

𝑛𝑦1+𝑚𝑦2

𝑚+𝑛
 

 

1 
 
 
1 
1 
1 

8 

 b)  −12 + 2𝑥

3 + 2
= 2 

1  

   −15 + 2𝑦

3 + 2
= −1 

1  

   x=11 or y=5 1  
   (11,5) 1  

14. a)  y=x3-6x2+9x+c 1 8 
   5=43 -6(4)2 +9(4)+c 1  
   y=x3 – 6x2 +9x + 1 1  
 b)  x=1, 3 1  
   d2y/dx2 = 6x-12 1  
   6(1) – 12  or 6(3) – 12  1  
   When x=1, d2y/dx2 = - 6, curve has maximum value 1  
   (1, 5) 1  

15. a)  𝑥 − 4

3
 

1 8 

    𝑓(𝑥) = 6 (
𝑥−4

3
) + 1       1  

   f(x) = 2x – 7  1  
 b)  3(2x – 7) + 4 1  
   gf(x) = 6x – 17  1  
 c)  3[6(x – 2) + 1] = 6x – 17  1  
   18x – 33 = 6x – 17  1  
   

𝑥 =
4

3
 

 
1 

 

   JUMLAH 88  

 

 TOTAL MARKS PAPER 1 = 80 

 TO CONVERT INTO PERCENTAGE =  
𝑋+𝑌

180
 × 100% = 𝑍% 

 X= PUPIL’S PAPER 1 MARKS  Y= PUPIL’S PAPER 2 MARKS 


